Biology I CRT Study Guide Fourth Quarter 2007-08

This is a guide.  It is not the actual test.

Students should also refer to the item specs for the new Biology portion of the AHSGE especially for the formatting of questions.

	7.0
	1. 
	Brown eye color is dominant to blue eye color.  A heterozygous brown-eyed father and a blue-eyed mother have four children.  What are the children’s predicted phenotype(s)?

	7.0
	2. 
	In lions, white color is a recessive trait, and brown color is dominant.  If a white lion mates with a homozygous brown lion, approximately what percentage of their offspring would be white?

	7.0
	3. 
	In pea plants, the allele for round seeds is dominant over wrinkled seeds.  Plant 1 has round seeds, and plant 2 has wrinkled seeds.  When these plants are crossed, 50% of their offspring have round seeds and 50 % have wrinkled seeds.  Which statement about the parent plants is correct?

	8.2
	4. 
	A rare disorder is caused by changes in a gene. Parents of the individuals with the disorder have only normal copies of this gene. What is the MOST likely causes this disorder?

	8.2
	5. 
	How are sickle cell anemia and hemophilia alike?

	8.2
	6. 
	In carrier pigeons there is a rare inherited condition that causes the death of the chicks before hatching. In order for the disease to be passed down from generation to generation there must be parent birds that are what?

	8.2
	7. 
	The breakage of a chromosome can lead to a mutation. What type of mutation occurs if the piece reattaches to a non-homologous chromosome?

	8.2
	8. 
	Why is colorblindness more common in males than in females?

	9.0
	9. 
	At which taxonomic level do the baboons Papio annubis and Papio cynocephalus differ? 

	9.0
	10. 
	Members of what kingdom are all anaerobic?

	9.0
	11. 
	Protista is an example of which of the seven major taxa? 

	9.0
	12. 
	Some biologists group eubacteria and archaebacteria together into which kingdom?

	9.0
	13. 
	The second part of a scientific name is unique to which taxon? 

	9.0
	14. 
	What is Linnaeus’s two-word system for naming organisms called? 

	9.0
	15. 
	Which correctly lists the kingdoms in the current six-kingdom classification?

	9.0
	16. 
	Which statement correctly describes the main difference between the five-kingdom and six-kingdom systems for classification?

	9.1
	17. 
	An important role of fungi in an ecosystem is what?

	9.1
	18. 
	Be able to identify method of movement of protists given a diagram

	9.1
	19. 
	Ciliates use what structures for feeding and movement?

	9.1
	20. 
	Eukaryotes that are not members of the kingdoms Plantae, Animalia, or Fungi belong to what kingdom?

	9.1
	21. 
	How are Archaebacteria different from other bacteria?

	9.1
	22. 
	Many cases of food poisoning are caused by bacterial poisons called what?

	9.1
	23. 
	Viruses are considered to be non-living.  Why is this so?

	9.1
	24. 
	When two Paramecia join together, exchange genetic material, and then divide to produce four organisms with new combinations of genetic material, they are reproducing by what process?

	10.0
	25. 
	Flowering plants are classified as monocots or dicots according to the number of what structures?

	10.0
	26. 
	How is the cactus structurally adapted to survive long dry periods?

	10.0
	27. 
	How many embryos and cotyledons do monocot seeds have?

	10
	28. 
	Be able to classify monocots and dicots based on leaf structure.

	10.0
	29. 
	If some of the xylem of a young oak tree were destroyed, it would most likely interfere with the tree’s ability to do what?

	10.0
	30. 
	Monocots and dicots are subdivisions of what plant grouping?

	10.0
	31. 
	Mosses rarely grow more than a few inches high and tend to occupy moist areas on or near the ground.  What is the BEST explanation for this?

	10.0
	32. 
	Pines, spruces, and firs are examples of what plant grouping?

	10.0
	33. 
	Spartina grass is a plant that grows in salt marshes. What adaptation can you assume spartina grass has that enables it to survive in salty water?

	10.0
	34. 
	What are vascular plants that reproduce by making seeds, but that do not produce flowers called?

	10.0
	35. 
	What is a seed plant anchored to the ground by?

	10.0
	36. 
	What is the function of the phloem in a plant?

	10.0
	37. 
	What is the function of the xylem in a plant?

	10.0
	38. 
	What is the main function of the stem?

	10.0
	39. 
	What is the primary function of a fruit?

	10.0
	40. 
	What structures do both mosses and ferns use to reproduce?

	10.0
	41. 
	Where are pollen grains produced within an angiosperm?

	11.0
	42. 
	All animals with a backbone can be classified as which of the following?

	11.0
	43. 
	Know the characteristics of fish, amphibians, reptiles, birds, and mammals as far as body covering, body temperature, and body plan, (symmetry).

	11.0
	44. 
	How do most land animals reproduce?

	11.0
	45. 
	How would an organism in which food and oxygen move by diffusion to all cells be classified? In other words no cell of the animal can be far from the exterior of the animal.

	11.0
	46. 
	What type of symmetry is exhibited by humans? 

	11.0
	47. 
	Which of the following is a characteristic of all vertebrates?

	12.0
	48. 
	A certain beetle closely resembles a stinging wasp and lives in the same ecosystem. This adaptation is an example of what?

	12.0
	49. 
	According to the theory of natural selection, individuals within a species that survive are those that are best ADAPTED to their environment. What BEST describes adaptation?

	12.0
	50. 
	Beak shape in finches is determined by what environmental factor?

	12.0
	51. 
	Organisms with traits well suited to their environment survive and reproduce at a greater rate than organisms that are less well adapted in the same environment. This is known as what?

	12.0
	52. 
	Scientists have found many similarities in the proteins of turtles and sharks. What do these similarities suggest about turtles and sharks?

	12.0
	53. 
	What do homologous structures explain about organisms?

	12.0
	54. 
	What is a factor that is necessary for the formation of a new species?

	12.0
	55. 
	What is the process by which a species becomes better suited to its environment?

	12.0
	56. 
	What is the separation of populations by barriers such as rivers, mountains, or bodies of water called?

	13.0
	57. 
	Bacteria that break down the nutrients in dead matter into simpler substances that are taken up by plant roots are called what?

	13.0
	58. 
	Be able to identify trophic levels given a diagram.

	13.0
	59. 
	Be able to identify trophic levels given a food web

	13.0
	60. 
	Grasshoppers feed off plants and may eventually kill them.  Snakes and frogs eat grasshoppers to survive.  A farmer is growing crops and has grasshoppers, snakes, and frogs living among the crops.  If the population of frogs doubles, which of the following will probably happen?

	13.0
	61. 
	In a food web, what type of organism receives energy from every other type?

	13.0
	62. 
	Organisms that manufacture organic nutrients for an ecosystem are called what?

	13.0
	63. 
	What happens in a food pyramid?

	13.0
	64. 
	Which level in the energy pyramid would most likely contain primary consumers?

	13.0
	65. 
	Water is lost to the abiotic parts of the biosphere from the biotic parts by the process of what?

	13.0
	66. 
	What is a biotic factor that might affect the life of a water-dwelling organism?

	13.0
	67. 
	What is an example of a biotic factor?

	13.0
	68. 
	What is the lowest trophic level which can include animals that feed on plants?

	13.0
	69. 
	Which one illustrates a relationship between a consumer and a producer?

	14.0
	70. 
	Be able to identify types of succession given a diagram

	14.0
	71. 
	Carbon dioxide in the atmosphere enters the biotic parts of the biosphere through what process?

	14.0
	72. 
	Humans burning fossil fuels, destroying vegetation that absorbs carbon dioxide, and using electrical labor-saving devices are affecting what biogeochemical cycle?

	14.0
	73. 
	In an ecosystem, what happens to the atoms of certain chemical elements such as carbon, oxygen, and nitrogen?

	14.0
	74. 
	Be able to identify the parts of the Nitrogen cycle.

	14.0
	75. 
	Precipitation and evaporation are important components of what biogeochemical cycle?

	14.0
	76. 
	The paths of water, carbon, and nitrogen pass from the non-living environment to living organisms and back to the non-living environment in closed cycles are called what?

	14.0
	77. 
	What are recycled in the biosphere?

	14.0
	78. 
	What happens as a result of increased burning of fossil fuels?

	14.0
	79. 
	What sequence is part of the carbon cycle?

	14.0
	80. 
	When green plants produce oxygen, from which molecule does the oxygen come?

	14.0
	81. 
	When water vapor cools during the process of condensation, it forms a liquid that can fall to the Earth as what step in the water cycle?

	15.0
	82. 
	Cold and long winters, very few trees, and little precipitation describe what biome?

	15.0
	83. 
	Herds of grazing animals are most likely to be found in what biome?

	15.0
	84. 
	Major ecosystems that occur over wide areas of land are called what?

	15.0
	85. 
	Organisms with light-producing body parts would most likely be found in which part of the ocean?

	15.0
	86. 
	The biome that makes up most of the central part of the United States is called what?

	15.0
	87. 
	The greatest diversity of life in the ocean is found in what part of the ocean?

	15.0
	88. 
	Tropical ecosystems are more diverse than temperate zone ecosystems because of which of the following?

	15.0
	89. 
	What is the dense covering formed by the leafy tops of tall trees in a tropical rain forest called?

	15.0
	90. 
	Which aquatic environment contains organisms that thrive in water with varying salt concentrations?

	15.0
	91. 
	Which biome has mostly shallow-rooted low-growing plants than can reproduce by budding and division rather than by flowering?

	15.0
	92. 
	Which biome is characterized by cold winters, patch permafrost, drought resistant plants, numerous lakes, ponds, rivers and bogs, and is located across the northern latitudes of NA and Eurasia??

	15.0
	93. 
	Which biome is characterized by having broad leaved hardwood trees that lose their foliage annually, has a top layer that is rich in humus and a deeper layer of clay, has precipitation that ranges from 70 – 150 cm annually, and has animals such as squirrels, mice rabbits and deer.

	15.0
	94. 
	Which biome would have nutrient-poor soil, hot wet weather all year, toucans, monkeys, and vines?

	16.0 
	95. 
	A natural disaster such as a flood that kills members of a population is an example of what type of factor?

	16.0
	96. 
	A tick feeding on a human is an example of what symbiotic relationship?

	16.0
	97. 
	An interaction in which one organism captures and feeds on another organism is what symbiotic relationship?

	16.0
	98. 
	Ladybugs were introduced as predators into an agricultural area of the United States to reduce the number of aphids feeding on grain crops.  This action is an example of which of the following?

	16.0
	99. 
	The relationship between a clown fish and a sea anemone is known as what symbiotic relationship?

	16.0
	100. 
	The relationship between a flower and the insect that feeds on its nectar is an example of what type of symbiosis?

	16.0
	101. 
	The spread of disease in a rabbit population is an example of what type of factor?

	16.0
	102. 
	Water lilies do not grow in desert sand. Water availability to these plants is considered to be what kind of a factor?

	16.0
	103. 
	What BEST describes the relationship between natural disasters or human-caused disasters and population size?

	16.0
	104. 
	What happens when members of the same species require the same food and space?
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